[ Efficiency vs vertpos |

—0.05
$.045
2
20.04
(&)
$.035
O
£0.03
0.025
0.02
0.015
0.04
0.005

I

...............................................

.........................................

........................................

0
il

4
1
H
i
1

Ratio

0.9

T T T T T T [T T [ TT T[T [T T[T [T T [T T[T TreT

0.8

= B 0

+11 1T
* |14 |1
-+
+*

10

=
2
N

1

10 0?
TP vertr (cr%)

—=— DQM_TT__mkFit-DQM_original-0
—e— DQM_TT__mkFit-DQM_original-127

Efficiend _,_ oM TT_mkFit-DOM_mod-127

.............................................

...............................

............................

[ Efficiency vs. sim PV z |

10 20 30
TP vert z (cm)

~0.05

> R
00.045F-+-rirrrmnieee R sy T A

S

2.025
[J]
0.02
0.015
0.01
0.005

] T A S S O I
.08 oo f b
P : : : : : :
U e s I SIS S S I
2 : : : : : :

104

Ratio
N

10 15 20
Sim. PV z (cm)




	Contents
	Page 1


